

BHARAT COKING COAL LIMITED (A Subsidiary of Coal India Limited) Office of the General Manager, Katras Area

P.O. Sijua Distt. Dhanbad.

Ref. No. BCCL/GM/IV/Civil/ Quotation/11-12/4397

Dated: 09.11.2011

## **QUOTATION NOTICE**

Sealed QUOTATION is invited in percentage rate above/below basis in single part from experienced and bonafide resourceful civil contractors for the following civil works :-

<u>S1.</u>	Nature of Job & location	Estimated Cost	<b>Earnest</b>	Time of
<u>No.</u>			Money	Completion
1	Repairing and maintenance of	₹42,759.98	₹428/-	15 Days
	V.T.Centre at Angarpathra			
	under Katras Area.			

## Date and time of receipt/opening of Quotation

- a) The quotation will be received on **29.11.2011** from 10.00A.M. to 3.00 P.M. in tender box kept at
  - i) Office of Asstt.Commandant,CISF. Camp,Angarpathra
  - ii) CISF Post, near Koyala Bhawan gate,Koyala Nagar, BCCL,Dhanbad in Box marked Katras Area.
  - iii) CISF Post, Sijua Area V in tender box marked Katras Area,
  - iv) CISF Post, Govindpur Area-III in tender box marked Katras Area,.
- b) The quotations received will be opened on **01.12.2011** at 4.00 P.M. in the office of the Area Civil Engineer, Katras Area.

All the materials and equipments required for this work will be responsibility of the contractors.

Contractors have to abide by the Labour regulation /abolition Act. Govt. of India adopted by BCCL time to time.

Conditional quotations will be out-right rejected.

Late or delayed quotations will not be accepted.

Quotations will not be considered by postal means.

Bill of Quantity and site conditions or the other documents such as general terms & conditions, general specifications and credentials, responsibility of the contractors, additional safety measures etc. can be seen at the office of the undersigned which will be applicable to the contract. Bill of quantity also can be seen in the company website <u>www.bccl.gov.in</u> during time period.

Requisite Earnest Money is to be deposited in cash with the Cashier/ Dy.Manager (Finance)/Sr. F.O., Katras Area or A/c Payee Demand Draft by local nationalized bank in favour of BHARAT COKING COAL LIMITED payable at Dhanbad and proper money receipt should be enclosed with the quotations.

Income Tax clearance certificate /PAN.No. & VAT is to be submitted.

BCCL Management reserves its right to reject any or all of the quotations received or to split up and distribute the work between two or more contractors for which no reasons will be given what so ever.

Area Civil Engineer Katras Area-IV

Copy to :-

- 1) General Manager, Katras Area,
- 2) G.M.(Civil), BCCL. Koyla Nagar, Dhanbad,
- 3) General Manager (Admn.), BCCL. Koyla Bhawan,
- 4) Sr.E.S. to C.V.O., Koyla Bhawan, BCCL.,
- 5) All Area CGM/GM's Areas & Projects of BCCL.
- 6) Addl.G.M./SO(Mining)/AFM/APM/AM(Plg.)/AM(Safety)/PM(Admn.),,Katras Area
- 7) All Project Officer's, Collys. Of Katras Area.
- 8) All SE(Civil), under Katras Area
- 9) Sr.F.O./Cashier, Katras Area
- 10) Notice Board, Katras Area
- 11) LEO©, Katrasgarh.
- 12) The Secretary, Chhatabad Malkera Adarsh Shramik Sahayog Samiti Ltd., 5 No. Chhatabad, At- Malkera Road, P.O. Katrasgarh, Dhanbad.
- 13) Asstt. Commandant,CISF Camp Angarpathra- with a request to depute Security personnel during the time period of receiving of tender near tender box and sealing the box at the time mentioned in NIT.
- 14) Commandant, CISF In-charge, Koyla Bhawwan BCCL Dhanbad -for necessary arrangement at his end.
- 15) Inspector Incharge, CISF Post, Govindpur Area-III.
- 16) Inspector Incharge, CISF Post, Sijua Area-V.
- 17) Manager(System), EDP,BCCL, Katras Area –along with a copy of NIT & BOQ.+ a C.D. against the above mentioned works for publication of the same in company website.
- 18) Tender File.

## Bill of Quantity for Repairing and maintenance of V.T.Centre at Angarpathra under Katras Area.

Sl. No.	Item	Unit	Quantity	Rate	Amount
1	Distempering with oil bound distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	Sqm	228.00	14.90	3397.20
2	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	258.00	22.85	5895.30
3	White washing with lime to give an even shade: Old work (two or more coats).	sqm	741.00	4.10	3038.10
4	Colour washing with lime to give an even shade: Old work (two or more coats).	sqm	645.00	4.86	3134.70
5	Providing and fixing flat pressed 3 layer particle board medium density exterior grade (Grade I) or graded wood particle board IS:3087 marked to frame, backing or studding with screws etc. complete (Frames, backing or studding to be paid separately): 12mm thick.	sqm	2.23	364.95	813.83
6	12mm cement plaster of mix: 1:6 (1cement : 6coarse sand).	sqm	50.00	72.70	3635.00
7	Brick work with FPS bricks of class designation 50 in foundation and plinth using cement mortar 1:6 (1cement : 6coarse sand).	cum	2.00	2007.00	4014.00
8	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1cement : 4fine sand).	sqm	4.00	97.90	391.60
9	6mm cement plaster of mix 1:3 (1cement : 3 fine sand).	sqm	10.00	62.15	621.50
10	25mm thick p.s. flooring with 1:2:4 et.c	sqm	20.00	141.11	2822.20
11	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping and sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	sqm	114.00	4.25	484.50
12	Providing and applying plaster of Paris putty of 2mm thickness over	sqm	114.00	47.20	5380.80

surface even and smooth complete.sqm45.0082.553714.451312mm cement plaster of mix: 1:4 (1cement : 4coarse sand).each4.00200.00800.0014Repair of door.each4.00200.00800.0015Fencing with angle iron post at required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire 9.38 kg per 100 m (min) between the two posts fitted and fixed with GI staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately): Payment to be made per metre cost of total length of barbed wire used: With GI barbed wire.kg42.0046.351946.7016Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.kg42.0046.351946.70						
13   12mm cement plaster of mix: 1:4 (leement: 4coarse sand).   sqm   45.00   82.55   3714.45     14   Repair of door.   each   4.00   200.00   800.00     15   Fencing with angle iron post at required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire 9.38 kg per 100 m (min) between the two posts fitted and fixed with GI staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately): Payment to be made per metre cost of total length of barbed wire used: With GI barbed wire.   kg   42.00   46.35   1946.70     16   Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.   1.00   354.45   354.45     17   Fixing chowkhat in existing opening including embedding hold fasts in coment concrete 1:3:6 (leement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door   1.00   354.45   354.45		plastered surface to prepare the				
(Icement : 4coarse sand).each4.00200.00800.0014Repair of door.each4.00200.00800.0015Fencing with angle iron post at required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire 9.38 kg per 100 m (min) between the two posts fitted and fixed with GI staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately): Payment to be made per metre cost of total length of barbed wire used: With GI barbed wire.kg42.0046.351946.7016Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.cach1.00354.45354.4517Fixing chowkhat in existing opening including embedding hold fasts in cement concrete 1:3.6 (Icement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door10354.45354.45				1 - 0 0		
14 Repair of door. each 4.00 200.00 800.00   15 Fencing with angle iron post at required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire 9.38 kg per 100 m (min) between the two posts fitted and fixed with GI staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately): Payment to be made per metre cost of total length of barbed wire used: With GI barbed wire. 42.00 46.35 1946.70   16 Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. 1.00 354.45 354.45   17 Fixing chowkhat in existing opening in control tables in cement concrete 1:3:6 (Lement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door 10 354.45 354.45	13		sqm	45.00	82.55	3714.45
15   Fencing with angle iron post at required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire 9.38 kg per 100 m (min) between the two posts fitted and fixed with GI staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately): Payment to be made per metre cost of total length of barbed wire used: With GI barbed wire.   42.00   46.35   1946.70     16   Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.   kg   42.00   46.35   1946.70     17   Fixing chowkhat in existing opening including embedding hold fasts in cement concrete 1:3:6 (Lement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door   1.00   354.45   354.45						
required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire 9.38 kg per 100 m (min) between the two posts fitted and fixed with GI staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately): Payment to be made per metre cost of total length of barbed wire used: With GI barbed wire. 16 Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. 17 Fixing chowkhat in existing opening including embedding hold fasts in cement concrete 1:3:6 (1cement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door		· · · · · · · · · · · · · · · · · · ·	each			
wire.kg42.0046.351946.7016Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.42.0046.351946.7017Fixing chowkhat in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete 1:3:6 (1cement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door10010010016Steel1.00354.4510010010017Fixing chowkhat in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete 1:3:6 (1cement : Scoarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door100100100		Fencing with angle iron post at required distance embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post on one side only and provided with horizontal lines and two diagonals interwoven with horizontal wires, of barbed wire 9.38 kg per 100 m (min) between the two posts fitted and fixed with GI staples, turn buckles etc. complete. (Cost of posts, struts, earth work and concrete work to be paid for separately): Payment to be made per metre cost of total length				2315.30
17Fixing chowkhat in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete 1:3:6 (1cement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door1.00354.45354.45	16	wire. Steel work in riveted, bolted or welded in built up sections, trusses and framed work including cutting, hoisting, fixing in position and	kg	42.00	46.35	1946.70
Total (₹) 42,759.98	17	Fixing chowkhat in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete 1:3:6 (1cement : 3coarse sand : 6stone aggregates 20mm nominal size) painting two coats of approved wood preservatives to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Door	each	1.00		354.45 42,759.98